
Erskine (8-13,2-4 Conference Carolinas) -vs- Benedict (1-8,1-2 SIAC)
3/8/2022 at Columbia, SC (Benjamin E. Mays)

 
 

 
Erskine (8-13,2-4 Conference Carolinas)

 
 
Benedict (1-8,1-2 SIAC)

 
 

Site: Columbia, SC (Benjamin E. Mays)
Date: 3/8/2022   Attendance: 75   Time: 6:57 pm   
Officials:

Set Scores 1 2 3
Erskine (3) 25 25 25
Benedict (0) 14 19 17

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
18 Jansen, Benjamin 3 2 0 4 .500 1 0 0 0 0 0 0 0 0 0 2
11 Sall, Jason 3 10 9 24 .042 0 0 1 2 1 0 0 2 0 0 12
28 Austin, Edgerrin 3 13 1 19 .632 0 0 1 0 0 0 0 2 0 0 14
1 Alcoba, Juan 3 2 0 5 .400 31 0 0 1 0 0 0 4 0 0 2
13 Rybarczyk, Kacper 3 8 1 16 .438 0 0 3 3 0 0 0 2 0 0 11
4 Ruiz, Alex 3 0 1 1 -1.000 0 0 0 0 0 0 0 7 0 0 0
6 Clapp, Anthony 3 0 0 0 .000 1 0 0 0 0 0 0 5 0 1 0
24 Asiru, Shayo 3 4 0 4 1.000 0 0 0 1 2 0 0 1 0 0 6
TM TEAM 3 0 0 0 .000 0 0 0 0 0 0 0 0 0 1 0
9 Rendon, Justin 2 0 0 0 .000 0 0 0 0 0 0 0 2 0 0 0
8 Moscatelli, Michael 2 0 0 0 .000 5 0 0 1 0 0 0 1 0 0 0
17 Arrowood, Josh 1 1 1 2 .000 0 0 0 0 0 0 0 0 0 0 1
14 Filkov, Tome 1 1 0 1 1.000 0 0 0 0 0 0 0 0 0 0 1

Totals 33 41 13 76 .368 38 0 5 8 3 0 0 26 0 2 49.0

Set K E TA %
1 12 3 20 0.45
2 16 7 36 0.25
3 13 3 20 0.5

41 13 76 .368

Attack Set Serve Block Defense Rec
# Player SP K E TA PCT A E SA SE BS BA BE DIG BHE RE PTS
3 Walkin, Terran 3 0 0 2 .000 25 1 0 1 0 0 0 2 0 0 0
5 Taylor, De’Andrae 3 3 0 5 .600 0 0 2 4 0 0 0 0 0 0 5
6 Wilmott, Donovan 3 1 3 7 -.286 0 0 0 2 0 0 0 3 0 0 1
9 Delancy, Ras Jesse 3 10 5 21 .238 0 0 0 1 1 0 0 3 0 0 11
11 Attles, Benjamin 3 4 4 15 .000 0 0 0 1 1 0 0 1 0 2 5
12 Beckford, Zion 3 9 2 17 .412 0 1 0 2 0 0 0 3 0 0 9
15 Forbes, Clint 3 0 0 3 .000 1 0 0 0 0 0 0 7 1 1 0
TM TEAM 3 0 0 0 .000 0 0 0 0 0 0 0 0 0 2 0
4 Harris, Bryson 2 0 0 0 .000 0 0 0 0 0 0 0 0 0 0 0
8 Jacobs, Jomari 2 0 0 0 .000 0 0 0 0 0 0 0 0 0 0 0

Totals 28 27 14 70 .186 26 2 2 11 2 0 0 19 1 5 31.0

Set K E TA %
1 5 7 22 -0.091
2 10 3 28 0.25
3 12 4 20 0.4

27 14 70 .186

1 2 3 Total
Tie scores 1 1 1 3
Lead changes 0 1 0 1


